20164 564G 2016%8A13A (1) 8KF109r ~ 9KF45%  (1RFRI35%) EERAEB - wEHA
TEAM 1 2 3 4 5 6 7 8 9 10 11 12 13 R H E
B ZaA—LZ 0 1 8 1 2 3 15 14 1
Bt 7Y—U 2 0 1 0 0 0 0 1 3 0
MVP(T#) | JIIF %3k 3mE |
#2171 | mREZ 45 | FmERK 3% | | | | | | |
MVPGEF) | AERA  17mH |
BAKF | mEgekx 6BIK | -7 AE RX 35 | A—ak | \ \ \ |
B Fal3z X 1-1 KERK 5-9
HFERF AR ERF 1-1 ERF 72
S RA—LX
TIE el 1 2 3 4 5 6 7 8 9 10 11 12 13 14 T =% & " K&k @ & k| X
1 RKERK | #R =R POER PN 3 1 .261
2 Il &KX k2 s Uk 2 2 2 2 .243
3 =B ER  |EEdR B2 (1) BER QD) 3 Q) 3.2 3 1 -304
4 EEA— | =R t3 (2 =7 =an 4 1 2 308
5 IR B2 Ex (1)) ER (1) = #= o 4 2 1 2 1 356
6 KK BE = ER () =2n BEER 31 11 1 223
7 L E—ER =& Uk 2 Uk 2 1 1 2 187
8 Fel3z X =1\ fAR (3) BEFRE f2 (2 42 1|5 319
9 R =7n | =an [z H-o 3 1 263
10 JIlF #3h sz ER F2 (2 3 3 2 1 250
TOTAL[31 14 2[15 3 6 2| 1| .264
B®: 7V-72
fIIE | ARFE £A 1 2 3 4 5 6 7 8 9 10 11 12 13 14 BHE T R AR M & HEER
1 aiTE =ik A% YR Felsz X ()
2 BE | ER —=n 7R 4 20 3/ 3/ 5/ 1] 222
3 aiTE UK =ik &0 RERK (s)
4 HiT% =6 [z 2 1 | 11 | 28
5 aiTE B& IR
6 ] = PaER T T ]
7 HiTE L)) PYEk
8 HiT% — 7R —on T T T T T ]
9 EiTE FEBR HER
10 HiT% = o —on T T T T T ]
11 aiTE =R =&
12 EfE 3R B [ T [ T T 11
TOTAL




